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PART - 111

2 Wilflwed / BIOLOGY
(S wHmId gpBfe eyl / Tamil & English Version )

ST ey : 3.00 wanfl Cryw |

[ Gurss wALQueamser : 70
Time Allowed : 3.00 Hours ]

[Maximum Marks : 70

SADleyenrset : (1) Doasg elamésesnd sflurs udaurd 2 GIETHT eraugenes FMUTT&ESIE
Clamererayb. @iEsiLSeNd Gonulmlibdar simns sarsrafiureriib
2 Lamquirgss OsMelssaib. '
2 Beob deg sBmUY aw@oma  wIEGW T (PSIeUSDHGLD
2g5CHTyHeugsp@b LwaTu@HEs CouadT@b. UL kisdr umreusn (S
Quendled LWSTLHSSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
G&OILY : uGS-1 (29f-graugelue), L@ -II (209f-emflud) salssal elen_ssrea
. e wafl&gaib.
Note :

Candidate should answer Part-1 (Bio-Botany) & Part-II (Bio-Zoology) in separate answer-
books.

UGS - 1 (e-uilf-greurefwed) / PART - I (BIO-BOTANY)
(dliCLesuraer : 35) / (Marks : 35)
\9fley - 1/SECTION - 1
GUIOY : () Smengs elamssEnsEh el welssayb. 8x1=8
(i) GCar@ssuulerer mremE wIHM Ve sefd BlEad grhyenLw
eflenL_emwis CaibsHSEE GHUSLHLan aflenLufenemmuyid otz eT(psayid.
Note : (i)  Answer all the questions.

(if)  Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer,
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1. @efloy uLrenild girrmu"{;@gpmm QenamrliLyy Qapr@Haer : .
(@) 7 (<) 2 (@) 10 (v
Linkage groups in Sweet pea:
@ 7 b) 2 ) 10 (d) 4
2. sraughsaian gafléGaismssd GG LwLEUESSIUED @& @aﬂuﬁ\:; SeTey
(<) 3-10% ()2 - 8% (@) 2-9% () 2-10%
Solar energy used by green plants for photosynthesis is only : 0
() 3-10% ®) 2-8% © 2-9% d) - 2-10%

3. smeypr safisafie srenTliLBeusloamne. |
(=) BGsrsmITL (<gp) erarGLISTIL (@) g () erinQamiu
Parthenocarpic fruits lack :

(@) Mesocarp (p) Endocarp () Seed (d) Epicarp

4. ssien @nHCwBUY Qgmlep L Lipem craipepll 19f56050HES LweTuHSsLU -

LGEps ?

(1) RNA (<) LTS (@) A9 (w) DNA

Southern blotting technique is used to separate

(a) RNA (b) Protein () Lipid (d) DNA
5. apeueD iHMm STeUTTEISGET & @mbs e(meurssLLB e

(<=1) uGrm_GLmSarns euerrLLy (<,) oMLy euemTLILy

(@) Qse Lgema GuemiTLUILY (F) <p&E@GSHe& euermiiy

Virus-free plants are developed from :

(a) Protoplast culture (b) Organ culture

(c) Cell Suspension culture (d) Meristem culture
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sipr_sreder Hid erangid GLphd Gipea wngIsrEG waaaflen Quasd :
(1) SINAECaT @uidsid () HLCEHT GwésD

(@) @pdw cwer walgen @ubsd () ofligr Gpefl Gleyaums Bwésb
People’s movement for the protection of environmentiin Sirsi of Karnataka is :

(a)  Appiko movement (b) Chipko movement

() Forest Man of India movement  (d) ~Amirtha Devi Bishwas movement

QuirQgafiedey (Pedogenesis) eremug _ 2.L.6 Ggm_yentwig).
(1) e Ns0sTens (=) Opreooguifl Ligeubd

() wer - () o

Pedogenesis refers to :

(@) Population (b) Fossil

(c) Soil (d) Water

Qemeumeueneupmier ergl Ledal ( LrrbuflugdhE e srrerTomEn ?
(1) CariL il Lranfluden ‘ascaﬂuﬁleiﬂ GUlg GULD

(=) Wrmieev gerur wefler Himb

(@) waisraaflen Camed HimD

() e Gpal 2 Huss

Which one of the following is an example of polygenic inheritance ?

(a) Pod shape in garden pea

(b)  Flower colour in Mirabilis jalapa

(c)  Skin colour in humans

(d) Production of male honey bee
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Y&y - 2/ SECTION - 2
GOlY : Spsremib dlemssaile aGsgub mremg amss@réE ofenwafléEsaybd.  4x2=8

Note: Answer any four of the following questions.

9. Quad G N6l eratmmed crester ?

What is Mellitophily ?

10. Gureeadl uph Sny GHIY euars.

Write short note on Pollenkitt.

11. wywsder WPsHwsFHeuD gCs@Ib QrameLs GHUEGHS.
Mention any two significance of Ploidy.

12. sremsaid Qo Gerer HTCUmESSSHE Gr(aggjése;nL@a?s'rr S(H.

Give the examples for micropropagation performed in plants.

13. Ll Qumsssdan GH&ECameaaeT Comib Qramgman eT(HgIs.

Write any two objectives of Plant Breeding.

14. 2.09A wmBS wWHOID sreur WHHS CaupLBsss.

Differentiate Bio-Medicines and Botanical Medicines.

19fey - 3/ SECTION - 3

Gy : Spsarapd oflarésatld sGseb epeny faEsEssE eflenl wialisab.
eflarm erer 19 -&@ «51'_Lnu.|mrras aenwefldsayib. 3x3=9

Note : Answer any three of the following questions. Q. No. 19 is Compulsory.

15. QuunSierogugder gCIID pPETN CUMSHEMET LIL D UenTE.
Draw the diagram of any three different types of aneuploidy.
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Qawpens eNnGue HETENDSET (PENID 6T (LHEHIH.

Write any three advantages of Artificial Seeds.

cuanfla Gauamrair &T(H eUETTLIL| LPEULD CUATTESILIILD PG Seuy eT(HEEIGEM_(HE@ETSH
B(HS.

Give three examples of plants cultivated in Commercial agroforestry.

‘seoufer eiflwb’ - oty cuemrs.

Write a note on heterosis.

<fAllen Qurmerrsry WaHwSgicusms eT(HE!s.

Write the economic importance of rice.

Sifley - 4/ SECTION -4

Gy : Siemensgl eflamssEnsEh eNenwelldsey. 2x5=10
Note: Answer all the questions.

20.

21.

(1) Qmuery sl Cergamaranwt alieur.
S0V
(<) Bt-LumsSullen Bemenld, SELDSENET GT(LDS)5.
(a) Describe Dihybrid Cross. ‘
OR
(b) Write the advantages and disadvantages of Bt-Cotton.

(=) 2euir ggiviy Hagssrarmsalean gCoaib gbg UDSCsrHOL USTUSeT
auflensIL(HE515.
V0G|
(=) () e-awey auene — euenywm).
(i) eeme) cumewler WEHWESIUSMS CT(HFIS.
(a) List out any five Morphological adaptations of halophytes.

OR
(b) (i) Define food web.

(i)  Write the significance of food web,
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u@S - 11 (e-ulfl-efleorsdluiev) / PART - 11 (BIO-ZOOLOGY)
(oflLiQuessaen : 35) (Marks : 35)

\9fley - 1/ SECTION -1

@MUY : () Siewesg elammssEns@h efleLwell&sa. 8x1=8

() Qsr@&sLul@érer mre@ WrHH derLsafle 1 &eyd GJ‘,f.iDLIG‘f'—'—“J
Ao eows Csrblshsss GHUTLGLer A @aanywn Cerggl
TIPSO,
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

1.  urelwGrev srdad efevar, Qeutiflened IMUITLLTED ppeTD SailHel Blenavsafled
QarLiflemg). iger euflens :
(1) wsaren Goaiy @ uslLBESED, 2 pussl, Guey iy
(<) @way Hfly, s ey Gaop UsUILGSSISD, 2 DU
(@) Queéy Hfy, epuss, waaemw Gmeariy Qo usILBSSIS®
() 2pusd, e Goariy @op uslLESEED. Gul Sifly
PCR proceeds in three distinct steps governed by temperature, they are in order of :
(a) Primer Annealing, Synthesis, Denaturation
(b) Denaturation, Primer Annealing, Synthesis
(c) Denaturation, Synthesis, Primer Annealing

(d) Synthesis, Primer Annealing, Denaturation

2. ereueuens QaniQumassdle GCeumurBasT Garemmid ?

(<=1) uredlal @eiblLiBHEsD () senafl @eriiClumEsDd

(@) urellaEu@said () (1) wpmd () Gran@io
In which mode cof reproduction, variations are seen ?

(a) Asexual (b) Parthenogenesis

() Sexual (d) Both (a) and (b)
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@ Qe o drer Lmt e miyseafar cravaflsamamu samdd vweruBb el

(=) N=1 o) (<) @ Qevaflcn ol

() N+1 a0 () Ggri_rafler a4

Which of the following rule is used to calculate the number of Barr bodies in a cell ?
(@) N-=1Rule (b) Allen’s Rule

() N+1 Rule (d) Jordan’s Rule

Csr@&sLLLBeTar sappisemearl Ligss slurams Caiey Ceis.

gapml 1 :  @rougrd Qelwiul L Heopéd seueyser s@HLIML T ppig &eT
pmib wepliyg Heorsar Curammena Quem QeTliQuUmESsL
urenguiled el eumufener selléEE (per el Lt LweTLHeamen.

gapml 2 :  Cuopsmplu semarsgid Bar@n LwaL@ssEemisw CoudQurmer
SHULSET y,GLD.

(1) snpmi 1 50 yammed Enpmy 2 seum.

(<) sndmiseT 1 wHMID 2 &1, Gogid sadmi 2 Fadml 1 -parer sflwrer edaréswmEb.

(&) s=mmseT 1 LOHMID 2 QramHCL seupreaTene.

(F) smpmiss 1 Hmid 2 &fl. YT Fnhm) 2 sanmi 1 -perer sflwrer eSerdsideme.

Read the given Statements and select the correct option.

Statement 1 : Diaphragms, cervical caps and vaults are made of rubber and are
inserted into the female reproductive tract to cover the cervix before
coitus.

Statement 2 : They are chemical barriers of conception and are reusable.

(a) Statement 1 is correct but Statement 2 is incorrect.

(b) Both Statements 1 and 2 are correct and Statement 2 is the correct explanation of

Statement 1.
(c) Both Statements 1 and 2 are incorrect.

(d) Both Statements 1 and 2 are correct but Statement 2 is not the correct explanation of

Statement 1.
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5. sngswran sHREGHPD g eulfasdear oifsuls GeaQUBHESSHDST
e NeWPEEUUGSHDS.

(=) e-vifiens Hpen () gD Spen

(8) SpCGarpmid (FF) &DMESPH SL&eT

The maximum reproductive capacity of an organism under optimum environmental conditions
is called

(a) Biotic potential (b) Carrying capacity

(c) Capacitation (d) Environmental resistance

6. Quager wHM svLre Cargenar Hlephllug :
(=) y.eremn.er e yLGLmmET
(<) SLEGI®S LT
(@) urd uepwer srEs0 WPerm DNA @riigliLITge
() Gsmom wrHmb
Meselson and Stahl’s experiment proved
(a) DNA is the genetic material
(b) Transduction
(c) Semi conservative nature of DNA replication

(d) Transformation

7.  Epésaeupmiet erps Hanmanudfl Gsmfibsramasaid ALNE ille 2 HusdHEs

vwetudmg ?

(1) evuTgleraven enpHgiT (<) rsCLrGudleeey uasTigan

(@) epGaruey apsilsamen (/) Quef&flelwib Spdeard

Which of the following micro-organism is used for production of citric acid in industries ?
(a) Aspergillus niger (b) Lactobacillus bulgaricus

() Rhizopus nigricans (d) Penicillium citrinum
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8. &pQl Poodlbg Qeadlar  geoeluueghle @ECrrGarhd  whHmb
‘ LGLrarenr_furameds QaramigmsHng.
SATeTTD D&ECrnGand Hme wnelwmwhs @l Gurarargfliuisamers

Qa;rrs&n@drmg)].
(<=4) G“LPLDJ sfluirang) wpemme, snyewiio BHAUMTETE)
Ec%i,) Uuﬁ?@] LOOMID SMTEwTLD Quanphid afl srrewtd sapiles sflwurar eeréaid 24,510
&) 581!{)@] \DOMILD SITeTwTD E)yem()ib FHEUDTETEN G
(") SmDmI wpmId strswmd Qran® b sflurarane oy, eanme snyewd sanmles sflwirer
aflatdad @dema
Assertion (A) Head of the sperm consists of Acrosome and Mitochondria.
Reason (R) § Acrosome contains spiral rows of Mitochondria.
(@)  (A) is true. (R) is false.
()  (A) and (R) are true. (R) is the correct explanation of (A).
(c) Both (A) and (R) are false.
(d) (A) and (R) are true. (R) is not the correct explanation of (A).

. Slfley - 2/ SECTION - 2
GO0y : Epasranib efamésaid eCsemib Brevl@ ellamssers@ o wellssan.  4x2=8
Note: Answer any four of the following questions.
9. OQumpglrer LruPMLICLITSE eTemmred cravme ?
What is mass extinction ?
10. @evwwre seei QaTCLHESSMS (P(POWDHD SHeef] O\ WIAIWIGEE T SIES
Caumup35.

Differentiate Complete parthenogenesis from Incomplete parthenogenesis.

11.  eAfleurssid sms :

(=) ZIFT (<) ICSI
Expand the following :
(@) ZIFT (b) ICSI

12.  weflg wyugn GFTEHS SLgdlen fpLudLsedr Caaub @reamg anars GOLABHS.

State any two salient features of Human Genome project.

13. &mwﬂ@un‘gg Q_Q]LJL.]ESGTT GF@TLDITGD creurenr ? ﬂ@g}@&&ﬂL@\ S(H.
What are homologous organs ? Give an example.

4. apgerento apenCGeniy. Gle&edlan Gramired eremen ?
What is pre-pro insulin ?
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\9f&y - 3/ SECTION - 3

MUY : aemeuCGugnd eperyy elamésEnss el wealssayb. eflarm eram 19 &8
sLmuwons edleLwelldsa|. 3x3=9

Note: Answer any three questions. Q. No. 19 is Compulsory.

15. @enablGen crepmed eranen ? Bigen uaflaamernd @GNULKGHS.

What is inhibin ? State its functions.

16. USenare&CGLrBlyNwreler oif@haer wreneu ?
What are the symptoms of phenylketonuria ?
17. Lriefaflw Camur®s@sssnar ardli shsgiseT erancuCeiid pedlenané CuNRICE:S

Mention any three main objections to Darwinism.

18.  fHaeump e iiflamsaiicr sremmiLGb erencuGugd ppemm seeueLILEmaT L igisd(®.

List any three adaptations seen in terrestrial animals.

19. CpCenmdlymb jeredigyerer erdlTLGLIMMHET gIamy&mars sl sa@TLHiu 2 gajbd
<18 2 amidpen Qaran Cemgenar otgl ? 2igen salls Splifameans GHLGGHS.
Which test is highly sensitive and can detect antigens in the range of nanogram ? Mention
the added advantages it possesses.

19fey - 4/ SECTION - 4
GOLY : Semensgl elamés@nsEh eflawalsse,b. 2%5=10
Note: Answer all the questions.

20. (1) walls QenQad 2 (meurdsid Hapesmen uenuLLD aped cleméEs.

AT
(=) Qewaréss GprigsemL srudmen whswrar CHMUS smL &9 60\ (5 5 81
Caupu(H585.
(a) Give a schematic representation of gametogenesis in humans.
OR

(b) Differentiate active immunity from passive immunity.
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21, (1) QUEGDWG.WUQ Siwralls@d Aréflmansenias Siel srayb Asmfld mlub
& ? DgLFMmAed BiLugglen Ligflenavser wreneu ?
AN
(<) @ s, l-lfﬂ'T@ﬂ DV sHmOTS gomtisald o daamd 2 HaurdsLliub b
5@@4§mmu ULgwell@s. Seuperp s araflgrss @Geaopss wpguwr ? ohs
s sfloysmer Gapriug Blsé SGAD SODF (LPlg WG ?
(a) What is the technique used for settling parental dispute ? What are the steps involved
in this technique ? '
OR

(b) List all the wastes that you generate, at home, school or during your trip to other
places. Could you very easily reduce the generation of these wastes ? Which would be

difficult or rather impossible to reduce ?

-00o0-
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